32. pa
parallel to y = 9x, through (0 =3)
33. perpendicular g ¥ = 8x = 1, through (4, 10)

A

;objectV®®
f te an equation

ol
f fof :rt;zke predictions
w1
'(;. 318)

wfite
! }gra liné O K
e itt0 make 319)
prediction’ (p-

the equation

¢ Objective

¥ Totranslate the graph
of an absolute value

equation (p. 325)

d fine and use

f best fit and

—_—

You can fing
an equatj
quation to model the relationship between two sets of data

in a scatter plot 1, ;
: sk . 3 ; :
write an equation),/ etching a trend line and using two points on the line to

The line of best fit of a
can find the equation o

scatter plot is the most accurate trend line for the data. You
Al

f a line of be i : e |
cal . st fit using a graphin
B s:liator-The correlation coefficient tells how wellpthe ¢ jieats POl
quation of the line of best fit models the data. 1970 33.8
34.G i 1975 329
C(')':SPhlng Calculator The table shows the average 1980 40.8
umption of poultry in the United States in 45.5
pou.n ds per person from 1970 to 2000. E ;
- Jnd t}.le cquation of a trend line or use a 1590 263
grappmg calculator to find the equation of 1995 62.9
the line of best fit, 2000 68.4

b. Use your equation to predict how much

1 Source: U.S. Department
poultry the average person will eat in 2010.

of Agriculture. Go to
www.PHSchool.com
for a data update.
Web Code: aeg-2041

The graph of an absolute value equation is a V-shaped graph that points upward
or downward.

A translation shifts a graph either vertically, horizontally, or both. It results in a
graph of the same shape and size in a different position.

|%].

36.y=|x| -3

Graph each equation by translating y =
35.y = |x — 2|

Match each equation with one of the graphs below.
38,y = |x + 2] 39.y = —|x + 2|
B.

40,y = —2|x|

37.y=|x| +2

=6 |-4 -2 10] T 2
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6-2, 6-3, and 6-4
Objectives

¥ To write linear
equations in slope-
intercept form
(p. 291)

V¥ To graph linear
equations (p. 293)

¥ To graph equations

using intercepts (p. 298)

¥ To write equations in
standard form (p. 300)

¥ To graph and write
linear equations using

point-siope form (p. 304)

¥ To write a linear

equation using data
(p. 306)

ear equation is a line. The x-intercept of i |jy,, s
n ,

»graphof ali e e e o
The grap ¢ the line crosses the x-axis, ang the y.

mate of the point wher

v-coordinate ot Iht.. poin - where the line crosses the PER 5 Iu‘-r%
the v-coordinate of the pomn u‘”m
forms of linear equations. |

v = mu + bwhere ms the slope and b . .

. . S e

nllu\\in

« slope-intercept form:

] form: Ax + By = C.where . B.and C are rea MUmbey :‘lnl'\:.
. ;a:'(:ar::l both zero . ) lnql“.
« point-slope form: v — V| = m(x — ). which passes through the P“in[“
with slope m
Write an equation of a line with the given slope and ."'inlt‘rccpt.Then -
the equation.
14.m=0b=-3 15.m = =7.b= } 16. m < _%J) =)

Write the slope-intercept form of the equation for each line,
ls. Ay

N e
-7 (]‘ 5 X

17.

- -4 |

A\

Find the x- and y-intercepts. Then graph each equation.

19.5x + 2v = 10 20, 6.5x — 4v = 32 2Lx + 3y = -
Use point-slope form to write an equation of a line that passes through the
point (1, —2) with slope m.

22.m =2 2.m = 24.m = =3 25.m =

RSN

Use the point-slope form to write an equation of a line through the given points

26. (4.3),(-2.1) 27. (5. -4).(0.2) 28. (= 1,0).(=3.-1)

G 29. Earnings A job at a retail store pays $75 each week plus 25% commissionor

total weekly sales.

a. Write an equation for the total weekly pay p for total weekly saless.
b. Use p as the vertical axis and s as the horizontal axis. Graph your equatt
¢. What is the total weekly pay if total weekly sales are $800?

d. What is the p intercept? What does it mean in this situation?

6-5 Objectives

¥ To determine whether

lines are parallel (p. 311)

¥ To determine whether
lines are perpendicular
(p. 312)

Parallel lines are lines in the same plane that never intersect. 1\1011\"‘?mfai Im,& :
parallel if they have the same slope. Two lines are perpendicular lines _1t thC,\l ol
intersect to form right angles. For perpendicular lines that are not horizont
vertical, the product of their slopes is —1.

Write an equation for each of the following conditions.

30. parallelto y = 5y — 2, through (2, —1)

31. perpendicularto y = —3y + 7.through (3. 5)
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Vocabular \
P ue equation (p. 325) perpendi _
ute v i ) icular lines (p.
3":S|ation C‘_’eﬂ'c;';; (p. 319) point-slope form (p,(goi; 2 standard form of a
o best fit (- A rate of change (p, 282) linear equation (p. 298)
i jquation (p- 29 slope (p. 284) translation (p. 325)

x-intercept (p. 298)

pe ‘eciprocal (p-312)
y-intercept (p. 291)

slope-intercept f
# ines (p- 311) PLlem{p:29)

Para“e
Reading Math  Choose the VO ;
Understal;ui[ing 1 | cabulary term that correctly completes the sentence.
Vocabulary » Two lines are _?_if the product of their slopes is —1.
2 —
Two lines in the same plane that never intersect are _?_.

E 9 . . o
ket 1o the NET A(n) _?_shiftsa graph horizontally, vertically, or both.

© online vocabulary quiz

: at‘J.‘,\,\,W.PHSchool.com

. g b Code: aej-0651 s. ) ' . ‘ '

Sl Th'efv coordinate of the point at which the graph of a line crosses the vertical
axis is called the _? .

4' ﬂle 1 7 ]
ratio of the vertical change to the horizontal change is called the _2_.

¢kills and Concepis
/——_-———_—__ . — -

Rate of change allows you to look at how two quantities change relative to

¢ Objectives each other.
Y Tofind rates of change _ change in the dependent variable
from tables and graphs rate of change = change in the independent variable

(p. 282)

¥ Tofind slope (p- 284) Slope is the ratio of the vertical change to the horizontal change.

vertical change _ rise

slope = forizontal change — run

Find the rate of change for each situation.
6. A kitten grows from 5 oz at birth to 31b 5 oz at 6 months. (Hint:11b = 16 0z)

7. A plant measures 0.5 in. at the end of Week 1 and 14 in. at the end of Week 5.

Find each rate of change. Explain what rate of change means in each sitnation.

; 10. 1111
8. _ ? 75 3()0«.. mmEn
g - ) &£ T 1
;: Y E,b 51 = 200 —————
g = = e
= 2e 5

£ g8 25 = 100 ————

A O .

6 12345 0 20 40
Time (h) Hours of Driving Time (min)

Find the slope of the line that passes through each pair of points.

11. (3,—2) and (=5, =4 12. (4.5,—1) and (4.5,2.6) 13.(2,5) and (-5, -2)
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